S= light gray
H=dark gray
A=blue
R=green

K=light brown
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Color the formulas with:
the sum of 2 - Pink

the sum of 3 - White
the sum of 4 - orange
the sum of 5 - black
the sum of 6 - light blue
the sum of 7 - Yellow
the sum of 8 - Dark blue

3+5= A+4=




2 — light blue
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he | blue

ne j dark green

ne k light green

ne b pink
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* Spaces that are not numbered should be left as white.
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Color the a light brown
Color the ¢ dark green

Color the e light blue

Color the b dark brown

Color the d light green
Color the f dark blue
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3 = Brown








